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Name-________________________ 
Part 1-

Evaluate-

1) (1/8) -3= 512
2) 81 ½= 9
3) log .0001= -5
Part IV

Rewrite…ahhh you can do this!

4) Rewrite with exponents instead of logs

a-log84=2/3

is it true or false
82/3=3√82=3√64=4 true
b- log327=3

is it true or false
33=27 true
5) Rewrite with Logarithms not powers.



a- 24=16




b- 54=125



log216=4





log5125=4
Part V-

Solve –

6) log56+log5X=log536

log56x=log536

6x=36

x=6
7) log2X=1/3log264

log2X=log2641/3
log2X=log23√64
x=4
8) 10X=1000X+2
log10x=log1000x+2
xlog10=(x-2)log1000
x(1)=(x-2)3

x=3x-6
6=2x
3=x

9) 2log64-1/3log68=log6X

log642-log681/3=log6x

log616-log62= log6x

log616/2= log6x

8=x
Part VI

10) Solve 2eX= 56

ex=56/2       ex=28


lnex=ln28


xlne=ln28


x(1)= 3.3

x=3.3
11) 3lne+ln12=ln X

3(1)+2.48=lnX

5.48=lnX

e5.48=X

239=X
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Part VI 

Pick 2- extra credit for extra

Cleat Scum Carbon 34.5 tests are often performed to determine the age of an organism that died a long time ago.  Carbon 34.5 has a half life of 5000 days.  If the scum in the toe of my cleats tested to have 86% of its original carbon 34.5 how old is it?

 t= number of half lives=?
N= final amount= 86
N0= original amount=100
N=N0(1/2)t
86=100(1/2)t
.86=.5t
log .86=t log .5

-0.065=t(-.3)

.22=t
5000x.22=1,100 days

Sound
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The decibel, dB, is the unit of measure of intensity of sound.  

The equation to determine the decibel rating of sound is B= 10 log(I/Io) 

Where Io=10-12 W/m2, the reference for the faintest audible sound for everyone except my Dad who really can’t hear much.  He thinks it’s from driving in the car with me as a child – but that has nothing to do with the test.

If a whisper has an intensity of 

I= 1.15 x 10-10 W/m2 

 What’s its decibel rating?

B=10 log (1.15x10-10)/(10-12)

B=10 log (1.15x102)

B=10 log (115)

B=10(2.06)

B=206 db
Population 
Frisbeeville has a population growth of…

 P= 30,000e0.14t.  

T is the time in years and t equaled 0 in 1990.  

What year will the population be approximately 245,000 ? 
t=?

P=245,000

245000=30,000e.14t
245,000/30,000=e.14t
8.16=e.14t.
ln8.16=lne.14t
ln8.16=.14tlne

2.10=.14t(1)

2.10/.14=t

15=t

1990+15= 2005
